CONTROL #1

ANSWER: B

Determine the end of the watercourse without being able to see it. | apologize
for the height of the grass which also makes even the bags hard to see.

The stony ground SE of the circle is a big help. The thickets on the NE side of the
trail can also be a help in determining where you are standing. You can draw lines
of sight when standing in front of one of these thickets and looking at the stony
ground or even the thickets further to the SE. For example, (staying on the trail)
stand with the thicket just North of the viewing station behind you and look
towards the North edge of the stony ground. Does bag B appear to be in the
correct location?



CONTROL #2

ANSWER: D

Identify the thicket that is circled and then determine the West side. This can be
a little confusing in two ways. Bags A and B are actually on an unmapped thicket.
It was small enough that the mapper chose to ignore it, mapping only the tree in
that area. Once you have identified the correct thicket, you then need to
determine the West side. Remember, from the viewing station you are facing
almost due South, so the West side is on your right as you look at the bags,
making bag D the correct choice.



CONTROL #3

ANSWER: Z

Determine which bag is on top of the circled cliff. Actually none of them are.
From the viewing station you can see the cliff bag B is on top of and the cliff bag C
is at the base of. It is hard to tell exactly where bag A is from here, but it is higher
than bag B. A stroll along the trail to the NE end of the lake gives a view of the
cliff that is circled and the thickets on either side. The lower cliff blurs a bit into
the upper cliff, but based on the height of the thickets, | think it is clear that bag A
is above the upper cliff. There is no bag at the top of the circled cliff.



